

RESOLUTION #17-1120-03

Authorizing Expenditure for Fire Department Security System

WHEREAS, the Fire Chief has determined it is in the best interest of the Township and the Fire Department to install a security system at both Fire Station 321 (which will also visually monitor the Road Department facility) and Fire Station 322.

WHEREAS, Fire Department staff has secured three bids and are recommending the lowest and best bidder be selected.

NOW THEREFORE, BE IT RESOLVED BY THE BOARD OF TRUSTEES OF LIBERTY TOWNSHIP, DELAWARE COUNTY, OHIO TO authorize an expenditure not to exceed \$32,000.00 for security systems to be installed at Fire Station 321 and Fire Station 322 payable to All Secured Security Systems, LLC, PO Box 8393, Columbus, OH 43201.

Motion made by Leneghan and seconded by Mitchell.

Vote: yes Mrs. Eichhorn yes Mrs. Leneghan yes Dr. Mitchell

This Resolution shall be in force and become effective immediately upon its execution.

Nov 20, 2017

Date

Melanie Leneghan
Melanie Leneghan, Trustee

CERTIFIED BY:

Nancy Denette
Nancy Denette, Fiscal Officer

Dr. Thomas Mitchell
Dr. Thomas Mitchell, Trustee

Shyra Eichhorn
Shyra Eichhorn, Trustee

All Secured Security Services, LLC
 P.O. Box 8398
 Columbus, OH 43201
 (614) 424-6730
 jenna@allsecured.net
 www.allsecured.net

Estimate



ADDRESS
 Liberty Township Fire Department
 7761 Liberty Rd. N
 Powell, Ohio 43065

SHIP TO
 Liberty Township Fire Department
 10150 Sawmill Parkway
 Powell, Ohio 43065
 Attention: Jim Readon

ESTIMATE #	DATE	EXPIRATION DATE
BC14432	09/01/2017	11/30/2017

P.O. NUMBER
 Access / CCTV

REP
 Kris Zulandt

ACTIVITY	QTY	RATE	AMOUNT
Installation of head end access control and lock power supply - Set up programming of access for access points and user levels - Program 50 users for system - Network system with assistance from customer IT administrator	1	600.00	600.00
Installation of card access on 5 doors - Includes Install all wire and conduit if needed to access doors - Installation of card readers and electric strikes on doors	5	500.00	2,500.00
Patch holes left by Simplex Locks with remodeling kits and pull handles and key locks the same key - Make custom plate for patio door to cover Simplex Lock holes	5	75.00	375.00
S2 Netbox Access Control Panel (6 Portal License - 1 ACM)	1	3,360.00	3,360.00T
S2 ACM Card	2	550.00	1,100.00T
Altronix SMP 5 Lock Power	1	125.00	125.00T
HID Proximity Card Reader	5	100.00	500.00T
Adams Rite Steelhawk Lock Body	1	350.00	350.00T
Hess 9500 Electric Strike	4	325.90	1,303.60T
Armored Door Cable	1	30.00	30.00T
Don Jo Pull Plates	5	35.00	175.00T
Ilco Rim Cylinders	4	0.00	0.00T
Wire / Installation Supplies	1	750.00	750.00T

There is a Return Check Fee of \$45 on all Returned Checks
 All Invoices are Net 15 unless otherwise stated

Any unpaid balance past due of 30 days or more may be subject to a late fee charge
 We may begin charging late fees in the amount of \$5 per Month, starting when the account is past due 30 days or until account is paid current
 Thank You for your Business

All Estimates are based on the best information presented and discovered. It is only an estimate and can change based on new information related to job being quoted.

All jobs are executed upon 50 percent deposit and product availability.

SUBTOTAL	11,168.60
TAX (0%)	0.00
TOTAL	\$11,168.60

By accepting this estimate, customer agrees that upon job sign off all funds are to be paid as agreed. Any legal remedy needed to obtain full payment would be the legal responsibility of the customer once sign off sheet acknowledges completion. Attorney fees, court fees, filing fees, late fees, etc.

Accepted By

Accepted Date

There is a Return Check Fee of \$45 on all Returned Checks

All Invoices are Net 15 unless otherwise stated

Any unpaid balance past due of 30 days or more may be subject to a late fee charge

We may begin charging late fees in the amount of \$5 per Month, starting when the account is past due 30 days or until account is paid current

Thank You for your Business

All Secured Security Services, LLC
 P.O. Box 8398
 Columbus, OH 43201
 (614) 424-6730
 jenna@allsecured.net
 www.allsecured.net

Estimate



ADDRESS
 Liberty Township Fire Department
 7761 Lieberty Rd. N
 Powell, Ohio 43065

SHIP TO
 Liberty Township Fire Department
 7761 Lieberty Rd. N
 Powell, Ohio 43065
 Attention: Jim Readon

ESTIMATE # BC14433 **DATE** 09/01/2017

P.O. NUMBER
 Access / CCTV

REP
 Kris Zulandt

ACTIVITY	QTY	RATE	AMOUNT
Set up NVR label Cameras and program NVR with customer definitions - Network NVR for Remote View	1	300.00	300.00
Installation of 4 cameras to observe location - Cam 1 in Med Room / Cam 2 Ambulance / Cam 3 Parking Area / Cam 4 Parking Area	4	200.00	800.00
Installation of POV Monitor	1	150.00	150.00
HIK Vision 2TB 8CH NVR	1	650.00	650.00
HIK Vision 5 MP IR Camera	2	325.90	651.80
HIK Vision 2MP IR Camera	2	150.00	300.00
Wire / Installation Supplies	1	250.00	250.00
Wall Mount Rack	1	50.00	50.00
WM Bracket for Monitor	1	50.00	50.00
32" LED Monitor	1	225.00	225.00
SUBTOTAL			3,426.80
TAX (0%)			0.00
TOTAL			\$3,426.80

All Estimates are based on the best information presented and discovered. It is only an estimate and can change based on new information related to job being quoted.

All jobs are executed upon 50 percent deposit and product availability.

By accepting this estimate, customer agrees that upon job sign off all funds are to be paid as agreed. Any legal remedy needed to obtain full payment would be the legal responsibility of the customer once sign off sheet acknowledges completion. Attorney fees, court fees, filing fees, late fees, etc.

There is a Return Check Fee of \$45 on all Returned Checks

All Invoices are Net 15 unless otherwise stated

Any unpaid balance past due of 30 days or more may be subject to a late fee charge

We may begin charging late fees in the amount of \$5 per Month, starting when the account is past due 30 days or until account is paid current

Thank You for your Business

All Secured Security Services, LLC
 P.O. Box 8398
 Columbus, OH 43201
 (614) 424-6730
 jenna@allsecured.net
 www.allsecured.net

Estimate



ADDRESS
 Liberty Township Fire Department
 7761 Liberty Rd. N
 Powell, Ohio 43065

SHIP TO
 Liberty Township Fire Department
 10150 Sawmill Parkway
 Powell, Ohio 43065
 Attention: Jim Readon

ESTIMATE #	DATE	EXPIRATION DATE
BC14434	09/01/2017	11/30/2017

P.O. NUMBER	REP
Access / CCTV	Kris Zulandt

ACTIVITY	QTY	RATE	AMOUNT
Set up NVR label Cameras and program NVR with customer definitions - Network NVR for Remote View	1	300.00	300.00
Installation of 4 cameras to observe location - Cam 1 In Med Room / Cam 2 Ambulance / Cam 3 Parking Area / Cam 4 Parking Area	4	200.00	800.00
Install wall mounted POV monitor	1	150.00	150.00
HIK Vision 2TB 8CH NVR	1	650.00	650.00
HIK Vision 5 MP IR Camera	2	325.90	651.80
HIK Vision 2MP IR Camera	2	150.00	300.00
Wire / Installation Supplies	1	250.00	250.00
Wall Mount Rack	1	50.00	50.00
WM Bracket for Monitor	1	50.00	50.00
32" LED Monitor	1	225.00	225.00
SUBTOTAL			3,426.80
TAX (0%)			0.00
TOTAL			\$3,426.80

All Estimates are based on the best information presented and discovered. It is only an estimate and can change based on new information related to job being quoted.

All jobs are executed upon 50 percent deposit and product availability.

By accepting this estimate, customer agrees that upon job sign off all funds are to be paid as agreed. Any legal remedy needed to obtain full payment would be the legal responsibility of the customer once sign off sheet acknowledges completion. Attorney fees, court fees, filing fees, late fees, etc.

There is a Return Check Fee of \$45 on all Returned Checks

All Invoices are Net 15 unless otherwise stated

Any unpaid balance past due of 30 days or more may be subject to a late fee charge

We may begin charging late fees in the amount of \$5 per Month, starting when the account is past due 30 days or until account is paid current
 Thank You for your Business

All Secured Security Services, LLC
 P.O. Box 8398
 Columbus, OH 43201
 (614) 424-6730
 jenna@allsecured.net
 www.allsecured.net

Estimate



ADDRESS
 Liberty Township Fire Department
 7761 Liberty Rd. N
 Powell, Ohio 43065

SHIP TO
 Liberty Township Fire Department
 7761 Lieberty Rd. N
 Powell, Ohio 43065
 Attention: Jim Readon

ESTIMATE #	DATE	EXPIRATION DATE
BC14431	09/01/2017	11/30/2017

P.O. NUMBER	REP
Access / CCTV	Kris Zulandt

ACTIVITY	QTY	RATE	AMOUNT
Installation of head end access control and lock power supply - Set up programming of access for access points and user levels - Program 50 users for system - Network system with assistance from customer IT administrator	1	600.00	600.00
Installation of card access on 6 doors - Includes install all wire and conduit if needed to access doors - Installation of card readers and electric strikes on doors	6	500.00	3,000.00
Remove existing Simplex 1000 Combo locks and install remodel kits to patch holes from old locks - Install new locks keyed to existing master - Install handles with keyed cylinders on 2 panic bars - Install remodel kit and panic bar on lobby door to living area	6	75.00	450.00
Repair existing door by installing a continuous hinge to fix damaged door	1	150.00	150.00
S2 Netbox Access Control Panel (6 Portal License - 1 ACM)	1	3,360.00	3,360.00T
S2 ACM Card	2	550.00	1,100.00T
Altronix SMP 5 Lock Power	1	125.00	125.00T
HID Proximity Card Reader	6	100.00	600.00T
Hess 5000 Electric Strike	3	160.00	480.00T
Hess 9500 Electric Strike	3	325.90	977.70T
LSDA Commercial Lever Lock	3	140.00	420.00T
Don Jo Simplex Remodel Kit	4	35.90	143.60T
Don Jo Pull Plate	2	25.90	51.80T

There is a Return Check Fee of \$45 on all Returned Checks

All Invoices are Net 15 unless otherwise stated

Any unpaid balance past due of 30 days or more may be subject to a late fee charge

We may begin charging late fees in the amount of \$5 per Month, starting when the account is past due 30 days or until account is paid current

Thank You for your Business

ACTIVITY	QTY	RATE	AMOUNT
Ilco Rim Cylinder	2	25.00	50.00T
Hager Continuous Hinge	1	150.00	150.00T
Armored Door Cable	1	30.00	30.00T
Wire / Installation Supplies	1	900.00	900.00T
HID Proximity Card	50	4.00	200.00T
All Estimates are based on the best information presented and discovered. It is only an estimate and can change based on new information related to job being quoted.		SUBTOTAL	12,788.10
		TAX (0%)	0.00
		TOTAL	\$12,788.10

All jobs are executed upon 50 percent deposit and product availability.

By accepting this estimate, customer agrees that upon job sign off all funds are to be paid as agreed. Any legal remedy needed to obtain full payment would be the legal responsibility of the customer once sign off sheet acknowledges completion. Attorney fees, court fees, filing fees, late fees, etc.

Accepted By

Accepted Date

There is a Return Check Fee of \$45 on all Returned Checks

All Invoices are Net 15 unless otherwise stated

Any unpaid balance past due of 30 days or more may be subject to a late fee charge

We may begin charging late fees in the amount of \$5 per Month, starting when the account is past due 30 days or until account is paid current

Thank You for your Business